BAYES  (by Joe Erdeky, erdeky@inbox.com)

The Program computes the result of a 2x2 Bayes’ Theorem problem and gives P(A|B), that is, the probability of A given B. You enter P(A), P(B|A), and P(B|A’). 
Because of a disability, ALS, I did not update the TI 84 screens below. 

However, the TI 84 C screens will be similar.
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------------------------------------------------------------------------------------------------------------

Other programs by this author are at 

http://www.ticalc.org/archives/files/authors/109/10933.html
------------------------------------------------------------------------------------------------------------
